BARANE R - AAKETER (IBAEHET)

ARNTEREFSREHZFHT - AOKER

1T 4 AR X HE 5 z 5
AGERT Hh I AREHET 1,127 1,459 1,441 2,900
RiEHhig K 799 868 903 1,771
2K BT 7 $h 32§ AHET 7 201 196 230 426
AT R Hhig N 868 944 1,049 1,993
TR b i TR 1,057 1,236 1,390 2,626
=/ Eihig B/E 476 545 595 1,140
K2R Jﬁ’ﬁ‘m 195 215 268 483
Hma 105 147 155 302
iR ithig iR 267 312 360 672
s HAR W 97 102 142 244
AR XE 877 1,005 1,044 2,049
it 2 Ehis dzE 473 515 541 1,056
B M-Af 167 190 193 383
LA 7ot R 197 216 232 448
HA Hhig Be 2,866 3,429 3,856 7,285
HHE A Hhig HES 1,758 2,086 2,314 4,400
BRAE) &M ARENE1~4TH 782 957 1,051 2,008
FEAE )& A2 )II85~9T B 1,485 2,279 2,308 4,587
M B A Hhig MRS 2,263 3,313 3,365 6,678
HE3E A Hhig HmES 2,278 3,347 3,394 6,741
LA Hhig wIlUE 1,236 1,776 1,801 3,577
19,574 25,137 26,632 51,769

BARAGFEEHF - AOEEF (I8 1LELET)

1T I 4 AR X N 5 z i
" e i3 H 185 248 289 537
AR FafaH 412 555 597 1,152
J6 3 B #hisg FEE 408 568 585 1,153
B E Hhig BETE 667 874 912 1,786
HEF 54 54 81 135
- LR 139 177 185 362
BRI B3 232 343 376 719
ek 45 44 68 112
|1 54 74 92 166
tig2 138 153 206 359
IRt ERithis £3R3 73 97 119 216
+ir4 52 65 73 138
i85 98 134 138 272
Lige 153 173 206 379
A7 66 87 81 168
L inraEbitig tims8 92 121 115 236
+3m9 108 131 142 273
ti\E10 90 100 125 225
WERXsN 28 29 27 56
= e X 4% 6 5 5 10
R4 76 67 79 146
3,176 4,099 4,501 8,600

TR 28%F6HAKH
THH 5 5 X H

BAAERARD 28,480 35,817 38,411 74,228
SEAERAO 212 271 245 516
KENHAO 28,692 36,088 38,656 74,744

B A R it#%- A OS5+ (1B NAET)

1T g £ AR X HEH 5 g 5

b b =] 248 298 322 620
BRI b N 124 156 176 332
=H 110 144 154 298
st 1 B 67 84 96 180
IR PR AL KE 213 258 251 509
EIEFE 20 27 27 54
FEFTHT 169 169 206 375
HTHET Hh iz h#TET 127 150 150 300
AL FrHET 128 164 149 313
FaET 179 219 255 474
FG T 16 24 29 53
fin B thig chET 36 31 41 72
BT 100 107 122 229
& 87 90 119 209
i 143 149 186 335
" ERER—TH 51 54 73 127
BRI A1 ERER=TH 289 339 353 692
ERER=TH 52 7 84 155
Rill 61 54 69 123
Lz k 35 22 38 60
it 41 50 52 102
hnyse BAR ik ING L 59 57 60 117
INET A 67 75 142
$£7 75 80 99 179
(LI 27 40 38 78
HERE 100 102 113 215
FeE) 5 116 138 150 288
AR 99 109 139 248
[ic] 45 49 55 104
R R Hh i ® 32 36 39 75
BEKE& 64 66 81 147
IhVEF 72 75 95 170
mp 39 47 53 100
B 36 40 46 86
=i 34 38 43 81
B/ 12 15 19 34
N 5 5 4 9
7/ 30 40 43 83
ETF 21 27 27 54
W ITFF 16 17 21 38
SR e 9 13 11 24
=P 8 6 9 15
i35 5 4 3 7
N 14 12 16 28
bus 33 42 52 94
AR 46 55 74 129
FINTE & i EIGA= 2,366 2,741 2,961 5,702
5,730 6,581 7,278 13,859

FR28%F6 AXRBE

5% HIA R

X5 THHE 5 z H

BARAERAO 28,436 35,798 38,376 74,174

SNEAEFERAO 209 262 248 510

KENMmAA 28,645 36,060 38,624 74,684
(BEH) (BH)

X5 TR 5 5 = B X5 THH 5 = =
BeE—TH 797 870 993 1,863 wuE—TH 144 177 185 362
HEZTH 557 638 741 1,379 WUE=TH 0 0 0 0
WE=ZTH 273 324 360 684 WILE=TH 0 0 0 0
HemTH 200 251 281 532 WILEMTE 0 0 0 0
HWERTH 758 991 1,095 2,086 WILERTHB 64 93 93 186
H&EATH 91 116 123 239 WILENRTEB 176 257 254 511
HetTH 190 239 263 502 WLEtETHE 417 617 617 1,234

HESE—TH 0 0 0 0 WILE/INTE 0 0 0 0
HEBZTH 243 323 323 646 BB ATE 8 7 11 18
HEEB=TH 8 9 9 18 BWLE+TE 206 310 317 627
HEBMTH 0 0 0 0 wea+—TH 179 260 273 533
HEBRTH 301 356 405 761 WueE+=TH 0 0
HEBNTHE 176 214 252 466 WLE+=TH 42 55 51 106
HESETHE 348 393 443 836 INEE 1,236 1,776 1,801 3,577
HEEB/N\THE 378 477 518 995 =11 12,668 17,187 18,089 35,276
HEBATH 304 314 364 678

KZINE—TH 341 411 445 856

KEZJINEZTH 99 121 130 251

KENE=ZTH 342 425 476 901

KZEINEWMTH 0 0 0 0

KEINERTH 240 397 386 783

RZNBATE 549 783 790 1,573 (&FH)

KZINELTH 329 490 507 997 X5 HHH 5 = i

KZINE/NTH 367 609 625 1,234 mmEe—TH 160 192 205 397

KEINEATH 0 0 0 0 EmE&E=TH 143 153 172 325
MEE—TH 507 774 729 1,503 ENE&E=TH 138 144 172 316
MEEZ=ZTH 124 199 191 390 FENEEmTH 116 131 147 278
MWRE=TH 241 344 382 726 FENE&EETH 55 64 62 126
MWREMTH 253 343 363 706 EmnE&E/RTH 164 184 210 394
MEERTH 267 393 402 795 mAmEaetTHE 156 175 198 373
MEENRTH 359 508 513 1,021 EmE&s/\TH 189 214 242 456
MWEREETH 291 455 458 913 EmEaenTE 186 208 231 439
MEE/NTH 221 297 327 624 mnEs+TH 181 210 223 433
m\EE—TH 278 310 317 627 EmxEe+—TH 253 297 293 590
w\EBZTH 366 532 535 1,067 EmxEE+=TH 215 269 270 539
WEE=TH 361 561 594 1,155 Emxe+=TH 151 180 192 372
wBEAEMTH 297 437 464 901 Emxae+mTE 120 146 173 319
W\EERTE 368 592 595 1,187 Emxe+ETH 139 174 171 345
BEBANTH 328 583 557 1,140 =111 2,366 2,741 2,961 5,702
WEELTE 280 332 332 664
BES/\TH 0 0

INET 11,432 15,411 16,288 31,699




